## Mathematic Slovaca

Zhi Min He; Weigao Ge
Oscillation in second order linear delay differential equations with nonlinear impulses

Mathematica Slovaca, Vol. 52 (2002), No. 3, 331--341

Persistent URL: http://dml.cz/dmlcz/128955

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 2002

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# OSCILLATION IN SECOND ORDER LINEAR DELAY DIFFERENTIAL EQUATIONS WITH NONLINEAR IMPULSES 

Zhimin He* - Weigao Ge**<br>(Communicated by Milan Medved')

ABSTRACT. In this paper, the second order linear delay differential equation with nonlinear impulses

$$
\begin{array}{cc}
x^{\prime \prime}(t)+P(t) x(t-\tau)=0, \quad t \geq t_{0}, \quad t \neq t_{k}, \quad k=1,2, \ldots, \\
x\left(t_{k}^{+}\right)=g_{k}\left(x\left(t_{k}\right)\right), \quad x^{\prime}\left(t_{k}^{+}\right)=h_{k}\left(x^{\prime}\left(t_{k}\right)\right), \quad k=1,2, \ldots,
\end{array}
$$

is considered, where $0 \leq t_{0}<t_{1}<\cdots<t_{k}<\ldots$ with $\lim _{k \rightarrow+\infty} t_{k}=+\infty$, and $\tau$ is a positive constant. Some sufficient conditions are obtained ensuring that all solutions of this equation oscillate.

## 1. Introduction and preliminaries

Recently there has been an extensive studies in the oscillatory theory of first order impulsive delay differential equations, see [4]-[8]. However, there are not much concerning the oscillatory properties of the second order impulsive delay differential equations and the second order impulsive ordinary differential equations, which is an important mathematical model of many evolutionary processes, see [9]-[12]. In this paper, we consider the following second order linear delay differential equation with nonlinear impulses

$$
\begin{gather*}
x^{\prime \prime}(t)+P(t) x(t-\tau)=0, \quad t \geq t_{0}, \quad t \neq t_{k}, \quad k=1,2, \ldots, \\
x\left(t_{k}^{+}\right)=g_{k}\left(x\left(t_{k}\right)\right), \quad x^{\prime}\left(t_{k}^{+}\right)=h_{k}\left(x^{\prime}\left(t_{k}\right)\right), \quad k=1,2, \ldots \tag{1}
\end{gather*}
$$

where $0 \leq t_{0}<t_{1}<\cdots<t_{k}<\ldots$ with $\lim _{k \rightarrow+\infty} t_{k}=+\infty$, and $\tau$ is a positive constant.

[^0]
## ZHIMIN HE - WEIGAO GE

Throughout this paper, we always assume that
(i) $P \in C((0,+\infty),[0,+\infty))$,
(ii) $g_{k}, h_{k} \in C(\mathbb{R}, \mathbb{R})$ and there exist positive numbers $a_{k}, \bar{a}_{k}, b_{k}, \bar{b}_{k}$ such that
$\bar{a}_{k} \leq \frac{g_{k}(x)}{x} \leq a_{k}, \quad \bar{b}_{k} \leq \frac{h_{k}(x)}{x} \leq b_{k} \quad$ for all $\quad x \neq 0, \quad k=1,2, \ldots$.
Let $J \subset \mathbb{R}$ be an interval, we define
$P C(J, \mathbb{R})=\{x: J \rightarrow \mathbb{R}: x(t)$ is continuous everywhere except some $t_{k}$ 's at which $x\left(t_{k}^{-}\right)$and $x\left(t_{k}^{+}\right)$exist and $\left.x\left(t_{k}^{-}\right)=x\left(t_{k}\right)\right\} ;$
$P C^{\prime}(J, \mathbb{R})=\{x \in P C(J, \mathbb{R}): x(t)$ is continuously differentiable everywhere except some $t_{k}$ 's at which
$x^{\prime}\left(t_{k}^{-}\right)$and $x^{\prime}\left(t_{k}^{+}\right)$exist and $\left.x^{\prime}\left(t_{k}^{-}\right)=x^{\prime}\left(t_{h}\right)\right\}$.
Let $t_{0} \geq 0, \phi \in P C\left(\left[t_{0}-\tau, t_{0}\right], \mathbb{R}\right)$. By a solution of (1) we mean a real valued function $x \in P C\left(\left[t_{0}-\tau,+\infty\right), \mathbb{R}\right) \cap P C^{\prime}\left(\left[t_{0},+\infty\right), \mathbb{R}\right)$ which satisfies
(iii) for any $t \in\left[t_{0}-\tau, t_{0}\right], x(t)=\phi(t), x\left(t_{0}^{+}\right)=x_{0}, x^{\prime}\left(t_{0}^{+}\right)=x_{0}^{\prime}$,
(iv) for any $t \in\left[t_{0},+\infty\right), t \neq t_{k}, k=1,2, \ldots, x(t)$ satisfies

$$
x^{\prime \prime}(t)+P(t) x(t-\tau)=0,
$$

(v) for any $k=1,2, \ldots, x\left(t_{h}^{+}\right)=g_{k}\left(x\left(t_{k}\right)\right), x^{\prime}\left(t_{k}^{+}\right)-h_{h}\left(x^{\prime}\left(t_{h}\right)\right)$.

Let $t_{0}$ be a given initial point and let $\phi \in P C\left(\left[t_{0}-\tau, t_{0}\right], \mathbb{R}\right)$ be a given initial function, then one can show by using the method of steps that (1) 1 d a unique solution on $\left[t_{0},+\infty\right)$ satisfying the initial condition $x(t)-(t)$ for $t \in\left[t_{0}-\tau, t_{0}\right]$.

A solution of (1) is said to be nonoscallatory if this olution is eventually positive or eventually negative. Otherwise this solution is aid to be oscillat

Lemma 1. ([1]) Assume that
(a1) The sequence $\left\{t_{h}\right\}$ satisfies $0 \leq t_{0}<t_{1}<t_{2}<\cdots<t_{h}<\cdots$ । th $\lim _{k \rightarrow \infty} t_{h}=+\infty$.
(a2) $m \in P C^{\prime}\left(\mathbb{R}_{+}, \mathbb{R}\right)$ is left continuous at $t_{h}$ for $k-1,2 \ldots$
(a3) For $k=1,2, \ldots, t \geq t_{0}$,

$$
\begin{aligned}
m(t) & \leq p(t) m(t)+q(t), \quad t \neq t_{h}, \\
m\left(t_{h}^{+}\right) & <d_{h} m\left(t_{k}\right)+l_{k}
\end{aligned}
$$

where $p, q \in C\left(\mathbb{R}_{+}, \mathbb{R}\right), d_{k} \geq 0$, and $b_{h}$ are real constants.

Then

$$
\begin{align*}
m(t) \leq m\left(t_{0}\right) & \prod_{t_{0}<t_{k}<t} d_{k} \exp \left(\int_{t_{0}}^{t} p(s) \mathrm{d} s\right) \\
& +\int_{t_{0}}^{t} \prod_{s<t_{k}<t} d_{k} \exp \left(\int_{s}^{t} p(\sigma) \mathrm{d} \sigma\right) q(s) \mathrm{d} s  \tag{4}\\
& +\sum_{t_{0}<t_{k}<t} \prod_{t_{k}<t_{j}<t} d_{j} \exp \left(\int_{t_{k}}^{t} p(s) \mathrm{d} s\right) b_{k}
\end{align*}
$$

Remark 1. If the inequalities (2) and (3) are reversed, then in the conclusion the inequality (4) is also reversed.

## 2. Main results

LEMMA 2. Let $x(t)$ be a solution of (1). Assume that there exists some $T \geq t_{0}$ such that $x(t)>0$ for $t \geq T$ and the following conditions hold
(h1) conditions (i) and (ii) are satisfied,
(h2) $\lim _{t \rightarrow+\infty} \int_{t_{0}}^{t} \prod_{t_{0}<t_{k}<s} \frac{\bar{b}_{k}}{a_{k}} \mathrm{~d} s=+\infty$.
Then $x^{\prime}(t) \geq 0$ for $t \in\left[T, t_{l}\right] \cup\left(\bigcup_{k=l}^{+\infty}\left(t_{k}, t_{k+1}\right]\right)$, where $l=\min \left\{k: t_{k} \geq T\right\}$.
Proof. At first, we shall prove that $x^{\prime}\left(t_{k}\right) \geq 0$ for any $k \geq l$. If it is not true, then there exists some $j$ such that $j \geq l$ and $x^{\prime}\left(t_{j}\right) \leq 0$. From (1) and (ii), we have

$$
x^{\prime}\left(t_{j}^{+}\right)=h_{j}\left(x^{\prime}\left(t_{j}\right)\right) \leq \bar{b}_{j} x^{\prime}\left(t_{j}\right)<0 .
$$

Let $x^{\prime}\left(t_{j}^{+}\right)=-\alpha(\alpha>0)$. By (1) and (i), for $t \in \bigcup_{i=1}^{+\infty}\left(t_{j+i-1}, t_{j+i}\right]$ we have

$$
x^{\prime \prime}(t)=-P(t) x(t-\tau) \leq 0
$$

Hence, $x^{\prime}(t)$ is monotonically nonincreasing in $\left(t_{j+i-1}, t_{j+i}\right], i=1,2, \ldots$.
So,

$$
\begin{aligned}
& x^{\prime}\left(t_{j+1}\right) \leq x^{\prime}\left(t_{j}^{+}\right)=-\alpha<0 \\
& x^{\prime}\left(t_{j+2}\right) \leq x^{\prime}\left(t_{j+1}^{+}\right)=h_{j+1}\left(x^{\prime}\left(t_{j+1}\right)\right) \leq \bar{b}_{j+1} x^{\prime}\left(t_{j+1}\right) \leq-\bar{b}_{j+1} \alpha<0, \\
& x^{\prime}\left(t_{j+3}\right) \leq x^{\prime}\left(t_{j+2}^{+}\right) \leq \bar{b}_{j+2} x^{\prime}\left(t_{j+2}\right) \leq-\bar{b}_{j+2} \bar{b}_{j+1} \alpha<0 .
\end{aligned}
$$

It is easy to show that, for any positive integer $n \geq 2$.

$$
x^{\prime}\left(t_{j+n}\right) \leq-\left(\prod_{i=1}^{n-1} \bar{b}_{j+i}\right) \alpha<0
$$

Consider the following impulsive differential inequalities

$$
\begin{gathered}
x^{\prime \prime}(t) \leq 0, \quad t>t_{j}, \quad t \neq t_{k}, \quad k=j+1, j+2, \ldots, \\
x^{\prime}\left(t_{k}^{+}\right) \leq \bar{b}_{k} x^{\prime}\left(t_{k}\right), \quad k=j+1, j+2, \ldots
\end{gathered}
$$

Let $m(t)=x^{\prime}(t)$. Then

$$
\begin{gathered}
m^{\prime}(t) \leq 0, \quad t>t_{j}, \quad t \neq t_{k}, \quad k=j+1, j+2, \ldots, \\
m\left(t_{k}^{+}\right) \leq \bar{b}_{k} m\left(t_{k}\right), \quad k=j+1, j+2, \ldots
\end{gathered}
$$

From Lemma 1, we have

$$
\begin{equation*}
m(t) \leq m\left(t_{j}^{+}\right) \prod_{t_{j}<t_{k}<t} \bar{b}_{k} \tag{5}
\end{equation*}
$$

i.e.,

$$
x^{\prime}(t) \leq x^{\prime}\left(t_{j}^{+}\right) \prod_{t_{j}<t_{k}<t} \bar{b}_{h} .
$$

Then, using the facts that $x\left(t_{k}^{+}\right) \leq a_{k} x\left(t_{h}\right)(k=j+1, j+2, \ldots)$ holds, by Lemma 1 we get

$$
\begin{align*}
x(t) & \leq x\left(t_{j}^{+}\right) \prod_{t_{j}<t_{k}<t} a_{k}+\int_{t_{j}^{+}}^{t} \prod_{s<t_{k}<t} a_{k}\left(x^{\prime}\left(t_{j}^{+}\right) \prod_{t_{j}<t_{k}} b_{h}\right) \mathrm{d} s \\
& =\prod_{t_{j}<t_{k}<t} a_{h}\left[x\left(t_{j}^{+}\right)-\alpha \int_{t_{j}^{+}}^{t} \prod_{t_{j}<t_{k}} \frac{\bar{b}_{h}}{a_{h}} \mathrm{~d} s\right] .
\end{align*}
$$

Since $x(t)>0$ for $t \geq T$, the last inequality (7) contradicts (h2) of Lemmi 2 Therefore, $x^{\prime}\left(t_{h}\right) \geq 0$ for $k \geq l$. The condition (ii) implies $x^{\prime}\left(t_{h}^{+}\right) \geq \bar{b}_{h} x^{\prime}\left(t_{h}\right){ }_{-} 0$ for any $k \geq l$. Because $x^{\prime}(t)$ is nonincreasing in $\left(t_{k}, t_{h+1}\right]$, it i cleal that $x^{\prime}(t) \geq x^{\prime}\left(t_{h+1}\right) \geq 0$ for $t \in\left(t_{h}, t_{h+1}\right], k \geq l$, and $x^{\prime}(t) \quad x^{\prime} t_{l} \geq 0$ for $t \in\left[T, t_{l}\right]$. Thus the proof of Lemma 2 is complete

Remark 2. In the cas that $x(t)$ is event tally negativ, ur d, the ( idit (h1) and (h2), it can be prov d s.milar y th it ${ }^{\prime}(t)<0 \in T$, $\left(\bigcup_{l-l}^{+\infty}\left(t_{h}, t_{h+1}\right]\right)$, wh r $l \min \{h$

Theorem 1. Assume that the conditions (h1) and (h2) of Lemma 2 hold and there exists a positive integer $k_{0}$ such that $\bar{a}_{k} \geq 1$ for $k \geq k_{0}$. If

$$
\begin{equation*}
\lim _{t \rightarrow+\infty} \int_{t_{0}}^{t} \prod_{t_{0}<t_{k}<s} \frac{1}{b_{k}} P(s) \mathrm{d} s=+\infty \tag{8}
\end{equation*}
$$

then every solution of (1) is oscillatory.
Proof. Without loss of generality, we can assume $k_{0}=1$. Let $x(t)$ be a nonoscillatory solution of (1), say $x(t)>0$ for $t \geq t_{0}$. From Lemma 2, we can find $x^{\prime}(t) \geq 0$ for $t \in\left[t_{0}, t_{1}\right] \cup\left(\bigcup_{k=1}^{+\infty}\left(t_{k}, t_{k+1}\right]\right)$. It is clear that $x^{\prime}(t-\tau) \geq 0$ for $t \geq t_{0}+\tau$.

Set

$$
u(t)=\frac{x^{\prime}(t)}{x(t-\tau)}
$$

Then, $u\left(t_{k}^{+}\right) \geq 0$ for $k=1,2, \ldots, u(t) \geq 0$ for $t \geq t_{0}$. By (i) and (1), we get

$$
u^{\prime}(t)=\frac{x^{\prime \prime}(t)}{x(t-\tau)}-\frac{x^{\prime}(t) x^{\prime}(t-\tau)}{x^{2}(t-\tau)} \leq-P(t), \quad t \neq t_{k}
$$

If $t_{k}-\tau \notin\left\{t_{k}: k=1,2, \ldots\right\}$, then $x\left(t_{k}^{+}-\tau\right)=x\left(t_{k}-\tau\right)$. Condition (ii) yields that,

$$
\begin{equation*}
u\left(t_{k}^{+}\right)=\frac{x^{\prime}\left(t_{k}^{+}\right)}{x\left(t_{k}^{+}-\tau\right)} \leq \frac{b_{k} x^{\prime}\left(t_{k}\right)}{x\left(t_{k}-\tau\right)}=b_{k} u\left(t_{k}\right) \tag{9}
\end{equation*}
$$

If $t_{k}-\tau \in\left\{t_{k}: k=1,2, \ldots\right\}$, we assume $t_{k}-\tau=t_{j}$ for some positive integer $j$. From condition (ii),

$$
x\left(t_{k}^{+}-\tau\right)=x\left(t_{j}^{+}\right)=g_{j}\left(x\left(t_{j}\right)\right) \geq \bar{a}_{j} x\left(t_{j}\right)=\bar{a}_{j} x\left(t_{k}-\tau\right) .
$$

Since $\bar{a}_{j} \geq 1$, we obtain

$$
\begin{equation*}
u\left(t_{k}^{+}\right)=\frac{x^{\prime}\left(t_{k}^{+}\right)}{x\left(t_{k}^{+}-\tau\right)} \leq \frac{b_{k} x^{\prime}\left(t_{k}\right)}{\bar{a}_{j} x\left(t_{k}-\tau\right)} \leq \frac{b_{k} x^{\prime}\left(t_{k}\right)}{x\left(t_{k}-\tau\right)}=b_{k} u\left(t_{k}\right) \tag{10}
\end{equation*}
$$

If $t_{k}+\tau \notin\left\{t_{k}: k=1,2, \ldots\right\}$, then $x\left(t_{k}^{+}+\tau\right)=x\left(t_{k}+\tau\right)$. By (ii),

$$
u\left(t_{k}^{+}+\tau\right)=\frac{x^{\prime}\left(t_{k}^{+}+\tau\right)}{x\left(t_{k}^{+}\right)} \leq \frac{x^{\prime}\left(t_{k}+\tau\right)}{x\left(t_{k}\right)}=u\left(t_{k}+\tau\right)
$$

If $t_{k}+\tau \in\left\{t_{k}: k=1,2, \ldots\right\}$, we assume $t_{k}+\tau=t_{j}$ for some positive integer $j$. From (ii),

$$
u\left(t_{k}^{+}+\tau\right)=\frac{x^{\prime}\left(t_{k}^{+}+\tau\right)}{x\left(t_{k}^{+}\right)} \leq \frac{b_{j} x^{\prime}\left(t_{k}+\tau\right)}{x\left(t_{k}\right)}=b_{j} u\left(t_{k}+\tau\right) .
$$

We construct the sequences

$$
\left\{t_{k}^{\prime}: k \in N\right\}=\left\{t_{k}: k \in N\right\} \cup\left\{t_{k}+\tau: k \in N\right\}
$$

where $0<t_{1}^{\prime}<t_{2}^{\prime}<\cdots<t_{k}^{\prime}<\ldots$ with $\lim _{k \rightarrow+\infty} t_{k}^{\prime}=+\infty$. Set

$$
e_{k}= \begin{cases}b_{i} & \text { if } t_{k}^{\prime}=t_{i}, \quad k=1,2, \ldots \\ 1 & \text { if } t_{k}^{\prime}=t_{j}+\tau, k=1,2, \ldots\end{cases}
$$

Consider the following impulsive differential inequalities

$$
\begin{gather*}
u^{\prime}(t) \leq-P(t), \quad t \geq t_{0}, \quad t \neq t_{k}^{\prime}, \quad k=1,2, \ldots \\
u\left(\left(t_{k}^{\prime}\right)^{+}\right) \leq e_{k} u\left(t_{k}^{\prime}\right), \quad k=1,2, \ldots \tag{11}
\end{gather*}
$$

By Lemma 1, we obtain

$$
\begin{align*}
u(t) & \leq u\left(t_{0}\right) \prod_{t_{0}<t_{k}^{\prime}<t} b_{k}-\int_{t_{0}}^{t} \prod_{s<t_{k}^{\prime}<t} b_{k} P(s) \mathrm{d} s \\
& =u\left(t_{0}\right) \prod_{t_{0}<t_{k}<t} b_{k}-\int_{t_{0}}^{t} \prod_{s<t_{k}<t} b_{k} P(s) \mathrm{d} s  \tag{12}\\
& =\prod_{t_{0}<t_{k}<t} b_{k}\left[u\left(t_{0}\right)-\int_{t_{0}}^{t} \prod_{t_{0}<t_{k}<s} \frac{1}{b_{k}} P(s) \mathrm{d} s\right] .
\end{align*}
$$

The last inequality (12) and $u(t) \geq 0$ contradict (8) of Theorem 1 . Hence every solution of (1) is oscillatory. The proof of Theorem 1 is complete.

Theorem 2. Assume that the conditions (h1) and (h2) of Lemma 2 hold and $t_{k+1}-t_{k}=\tau$ for all $k=1,2, \ldots$ If

$$
\begin{equation*}
\lim _{t \rightarrow+\infty} \int_{t_{0}}^{t} \prod_{t_{0}<t_{k}<s} \frac{1}{c_{k}} P(s) \mathrm{d} s=+\infty \tag{13}
\end{equation*}
$$

where

$$
c_{k}= \begin{cases}b_{1} & \text { if } k=1 \\ \frac{b_{k}}{\overline{a_{k-1}}} & \text { if } k=2,3, \ldots\end{cases}
$$

then every solution of (1) is oscillatory.
Proof. Let $x(t)$ be a nonoscillatory solution of equation (1), say $x(t)>0$ for $t \geq t_{0}$. From Lemma $2, x^{\prime}(t) \geq 0$ for $t \geq t_{0}$. It is clear that $x^{\prime}(t-\tau) \geq 0$ for $t \geq t_{0}+\tau$.

Set

$$
u(t)=\frac{x^{\prime}(t)}{x(t-\tau)}
$$

Then, $u\left(t_{k}^{+}\right) \geq 0$ for $k=1,2, \ldots, u(t) \geq 0$ for $t \geq t_{0}$. Using condition (i), by (1), we have

$$
u^{\prime}(t) \leq-P(t), \quad t \neq t_{k}
$$

If $k=1$,

$$
\begin{equation*}
u\left(t_{1}^{+}\right)=\frac{x^{\prime}\left(t_{1}^{+}\right)}{x\left(t_{1}^{+}-\tau\right)} \leq \frac{b_{1} x^{\prime}\left(t_{1}\right)}{x\left(t_{1}-\tau\right)}=b_{1} u\left(t_{1}\right)=c_{1} u\left(t_{1}\right) \tag{14}
\end{equation*}
$$

If $k=2,3, \ldots$,

$$
\begin{equation*}
u\left(t_{k}^{+}\right)=\frac{x^{\prime}\left(t_{k}^{+}\right)}{x\left(t_{k}^{+}-\tau\right)} \leq \frac{b_{k} x^{\prime}\left(t_{k}\right)}{x\left(t_{k-1}^{+}\right)} \leq \frac{b_{k} x^{\prime}\left(t_{k}\right)}{\bar{a}_{k-1} x\left(t_{k-1}\right)}=\frac{b_{k} x^{\prime}\left(t_{k}\right)}{\bar{a}_{k-1} x\left(t_{k}-\tau\right)}=c_{k} u\left(t_{k}\right) \tag{15}
\end{equation*}
$$

Consider the following impulsive differential inequalities

$$
\begin{gather*}
u^{\prime}(t) \leq-P(t), \quad t \geq t_{0}, \quad t \neq t_{k}, \quad k=1,2, \ldots  \tag{16}\\
u\left(t_{k}^{+}\right) \leq c_{k} u\left(t_{k}\right), \quad k=1,2, \ldots
\end{gather*}
$$

By Lemma 1, we have

$$
\begin{align*}
u(t) & \leq u\left(t_{0}\right) \prod_{t_{0}<t_{k}<t} c_{k}-\int_{t_{0}}^{t} \prod_{s<t_{k}<t} c_{k} P(s) \mathrm{d} s  \tag{17}\\
& =\prod_{t_{0}<t_{k}<t} c_{k}\left[u\left(t_{0}\right)-\int_{t_{0}}^{t} \prod_{t_{0}<t_{k}<s} \frac{1}{c_{k}} P(s) \mathrm{d} s\right] .
\end{align*}
$$

The last inequality (17) and $u(t) \geq 0$ contradict (13) of Theorem 2. Hence every solution of (1) is oscillatory. The proof of Theorem 2 is complete.

From Theorem 1 and Theorem 2, we can immediately obtain the following corollaries.

Corollary 1. Assume that the conditions (h1) and (h2) of Lemma 2 hold and there exists a positive integer $k_{0}$ such that $\bar{a}_{k} \geq 1, b_{k} \leq 1$ for $k \geq k_{0}$. If

$$
\lim _{t \rightarrow+\infty} \int_{t_{0}}^{t} P(s) \mathrm{d} s=+\infty
$$

then every solution of $(1)$ is oscillatory.

## ZHIMIN HE - WEIGAO GE

Proof. Without loss of generality, let $k_{0}=1$. Since $b_{k} \leq 1$, we have

$$
\begin{aligned}
\lim _{t \rightarrow+\infty} \int_{t_{0}}^{t} \prod_{t_{0}<t_{k}<s} \frac{1}{b_{k}} P(s) \mathrm{d} s & =\lim _{n \rightarrow+\infty} \int_{t_{0}}^{t_{n+1}} \prod_{t_{0}<t_{k}<s} \frac{1}{b_{k}} P(s) \mathrm{d} s \\
& =\lim _{n \rightarrow+\infty} \sum_{i=0}^{n} \int_{t_{i}^{+}}^{t_{i+1}} \prod_{t_{0}<t_{k}<s} \frac{1}{b_{k}} P(s) \mathrm{d} s \\
& =\lim _{n \rightarrow+\infty} \sum_{i=0}^{n} \prod_{t_{0}<t_{k}<t_{i+1}} \frac{1}{b_{k}} \int_{t_{i}^{+}}^{t_{i+1}} P(s) \mathrm{d} s \\
& \geq \lim _{n \rightarrow+\infty} \sum_{i=0}^{n} \int_{t_{i}^{+}}^{t_{i+1}} P(s) \mathrm{d} s \\
& =\lim _{n \rightarrow+\infty} \int_{t_{0}^{+}}^{t_{n+1}} P(s) \mathrm{d} s=+\infty
\end{aligned}
$$

In view of Theorem 1, we find that every solution of (1) is oscillatory.
Corollary 2. Assume that the conditions (h1) and (h2) of Lemma 2 hold and there exist a positive integer $k_{0}$ and a constant $\alpha>0$ such that $\bar{a}_{k} \geq 1$. $\frac{1}{b_{k}} \geq\left(\frac{t_{k+1}}{t_{k}}\right)^{\alpha}$ for $k \geq k_{0}$. If

$$
\lim _{t \rightarrow+\infty} \int_{t_{0}}^{t} s^{\alpha} P(s) \mathrm{d} s=+\infty
$$

then every solution of (1) is oscillatory.
Proof. Without loss of generality, let $k_{0}=1$. We have

$$
\begin{aligned}
\lim _{t \rightarrow+\infty} \int_{t_{0}}^{t} \prod_{t_{0}<t_{k}<s} \frac{1}{b_{k}} P(s) \mathrm{d} s & =\lim _{n \rightarrow+\infty} \sum_{i=0}^{n} \prod_{t_{0}<t_{k}<t_{i+1}} \frac{1}{b_{k}} \int_{t_{i}^{+}}^{t_{i+1}} P(s) \mathrm{d} s \\
& \geq \lim _{n \rightarrow+\infty} \frac{1}{t_{1}^{\alpha}} \sum_{i=1}^{n} t_{i+1}^{\alpha} \int_{t_{i}^{+}}^{t_{i+1}} P(s) \mathrm{d} s
\end{aligned}
$$

$$
\begin{aligned}
& \geq \lim _{n \rightarrow+\infty} \frac{1}{t_{1}^{\alpha}} \sum_{i=1}^{n} \int_{t_{i}^{+}}^{t_{i+1}} s^{\alpha} P(s) \mathrm{d} s \\
& =\lim _{n \rightarrow+\infty} \frac{1}{t_{1}^{\alpha}} \int_{t_{1}^{+}}^{t_{n+1}} s^{\alpha} P(s) \mathrm{d} s=+\infty
\end{aligned}
$$

In view of Theorem 1, we can see that every solution of (1) is oscillatory.

Corollary 3. Assume that the conditions (h1) and (h2) of Lemma 2 hold and $t_{k+1}-t_{k}=\tau$ for all $k=1,2, \ldots$. Suppose that there exist a positive integer $k_{0}$ and a constant $\alpha>0$ such that $\frac{1}{c_{k}} \geq\left(\frac{t_{k+1}}{t_{k}}\right)^{\alpha}$ for $k \geq k_{0}$, where

$$
c_{k}= \begin{cases}b_{1} & \text { if } k=1 \\ \frac{b_{k}}{\bar{a}_{k-1}} & \text { if } k=2,3, \ldots\end{cases}
$$

If

$$
\lim _{t \rightarrow+\infty} \int_{t_{0}}^{t} s^{\alpha} P(s) \mathrm{d} s=+\infty
$$

then every solution of (1) is oscillatory.

Corollary 3 can be deduced from Theorem 2. Its proof is similar to that of Corollary 2. Here we omit it.

Example 1. Consider

$$
\begin{gather*}
x^{\prime \prime}(t)+\frac{1}{t \ln t} x(t-1)=0, \quad t \geq \frac{3}{2}, \quad t \neq 2^{k}, \quad k=1,2, \ldots  \tag{18}\\
x\left(\left(2^{k}\right)^{+}\right)=\frac{2(k+1)}{k} x\left(2^{k}\right), \quad x^{\prime}\left(\left(2^{k}\right)^{+}\right)=x^{\prime}\left(2^{k}\right), \quad k=1,2, \ldots,
\end{gather*}
$$

where $a_{k}=\bar{a}_{k}=\frac{2(k+1)}{k}, b_{k}=\bar{b}_{k}=1, P(t)=\frac{1}{t \ln t}, t_{0}=\frac{3}{2}, t_{k}=2^{k}$, $k=1,2, \ldots$ Obviously, the condition (h1) of Lemma 2 is satisfied and

$$
\begin{aligned}
\lim _{t \rightarrow+\infty} \int_{t_{0}}^{t} \prod_{t_{0}<t_{k}<s} \frac{\bar{b}_{k}}{a_{k}} \mathrm{~d} s= & \int_{\frac{3}{2}}^{+\infty} \prod_{\frac{3}{2}<t_{k}<s} \frac{k}{2(k+1)} \mathrm{d} s \\
= & \int_{\frac{3}{2}}^{t_{1}} \prod_{\frac{3}{2}<t_{k}<s} \frac{k}{2(k+1)} \mathrm{d} s+\int_{t_{1}^{+}}^{t_{2}} \prod_{\frac{3}{2}<t_{k}<s} \frac{k}{2(k+1)} \mathrm{d} s \\
& +\int_{t_{2}^{+}}^{t_{3}} \prod_{\frac{3}{2}<t_{k}<s} \frac{k}{2(k+1)} \mathrm{d} s+\int_{t_{3}^{+}}^{t_{4}} \prod_{\frac{3}{2}<t_{k}<s} \frac{k}{2(k+1)} \mathrm{d} s+\ldots \\
= & \frac{1}{2}+\frac{1}{2} \times \frac{1}{2} \times 2+\left(\frac{1}{2}\right)^{2} \times \frac{1}{2} \times \frac{2}{3} \times 2^{2} \\
& +\left(\frac{1}{2}\right)^{3} \times \frac{1}{2} \times \frac{2}{3} \times \frac{3}{4} \times 2^{3}+\cdots=+\infty
\end{aligned}
$$

Let $k_{0}=1$. Then

$$
\bar{a}_{k} \geq 1, \quad k \geq k_{0}
$$

and

$$
\int_{\frac{3}{2}}^{+\infty} P(t) \mathrm{d} t=\int_{\frac{3}{2}}^{+\infty} \frac{1}{t \ln t} \mathrm{~d} t=+\infty
$$

By Corollary 1, every solution of (18) is oscillatory.

## REFERENCES

[1] LAKSHMIKANTHAM, V.-BAINOV, D. D.-SIMEONOV, P. S.: Theory of Impulsive Differential Equations, World Scientific, Singapore, 1989.
[2] GYORI, I.-LADAS, G.: Oscillation Theory of Delay Differential Equations with Applications, Clarendon Press, Oxford, 1991.
[3] ERBE, L. H.-KONG, Q. K.-ZHANG, B. G. : Oscillation Theory for Functional Differential Equations. Pure Appl. Math., Marcel Dekker 190, Marcel Dekker, Inc., New York, 1994.
[4] GOPALSAMY, K.-ZHANG, B. G.: On delay differential equations with impulses, J. Math. Anal. Appl. 139 (1989), 110-122.
[5] CHEN, M. P.-YU, J. S.-SHEN, J. H.: The persistence of nonoscillatory solutions of delay differential equations under impulsive perturbations, Computers Math. Appl. 27 (1994), 1-6.
[6] SHEN, J. H.: The nonoscillatory solutions of delay differential equations with impulses, Appl. Math. Math. Comput. 77 (1996), 153-165.
[7] ZHANG, Y. Z.-ZHAO, A. M.-YAN, J. R. : Oscillation criteria for impulsive delay differential equations, J. Math. Anal. Appl. 205 (1997), 461-470.

## OSCILLATION IN SECOND ORDER LINEAR DELAY DIFFERENTIAL EQUATIONS

[8] DOMOSHNITSKY, A.-DRAKHLIN, M.: Nonoscillation of first order impulsive differential equations with delay, J. Math. Anal. Appl. 206 (1997), 254-269.
[9] BAINOV, D.-DIMITROVA, M.-DISHLIEV, A.: Necessary and sufficient conditions for existence of nonoscillatory solutions of impulsive differential equations of second order with retarded argument, Appl. Anal. 63 (1996), 287-297.
[10] BAINOV, D.-DIMITROVA, M. : Oscillation of sub- and superlinear impulsive differential equations with constant delay, Appl. Anal. 64 (1997), 57-67.
[11] CHEN, Y. S.-FENG, W. Z.: Oscillations of second order nonlinear ODE with impulses, J. Math. Anal. Appl. 210 (1997), 150-169.
[12] HUANG, C. C.: Oscillation and nonoscillation for second order linear impulsive differential equations, J. Math. Anal. Appl. 214 (1997), 378-394.
[13] KUNG, GEORGE C. T.: Oscillation and nonoscillation of differential equations with a time lag, SIAM J. Appl Math. 21 (1971), 207-213.

Received December 1, 1998
Revised March 8, 2001

* Department of Applied Mathematics Central South University Changsha 410083
Hunan
PEOPLE'S REPUBLIC OF CHINA
E-mail: hezhimin@mail.csu.edu.cn

[^1]
[^0]:    2000 Mathematics Subject Classification: Primary 34C10.
    Keywords: delay differential equation, oscillation, impulse.

[^1]:    ** Department of Applied Mathematics Beijing Institute of Technology Beijing 100081 PEOPLE'S REPUBLIC OF CHINA

